Exercise answer section 

Chapter 15

Index Numbers

	Year
	Wage
	
	Index
	

	1975
	$2.10
	
	100.00
	found by ( 2.10/2.10 ) 100

	1980
	$3.10
	
	147.6
	found by ( 3.10/2.10 ) 100

	1985
	$3.35
	
	159.5
	found by ( 3.35/2.10 ) 100

	1990
	$3.80
	
	181.0
	found by ( 3.80/2.10 ) 100

	1995
	$4.25
	
	202.4
	found by ( 4.25/2.10 ) 100

	1996
	$4.75
	
	226.2
	found by ( 4.75/2.10 ) 100

	1997
	$5.15
	
	245.2
	found by ( 5.15/2.10 ) 100


Exercise 15.1 See table.
Exercise 15.2

a.
Simple aggregate index:
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b.
Laspeyres index:

	
	1989
	
	
	2006
	

	
	Price
	Quantity
	
	
	Price
	
	

	Item
	p0
	q0
	p0q0
	
	pt
	ptq0
	

	Battery
	$25
	32
	$800
	
	$90
	$2880
	

	Cable
	22
	8
	176
	
	40
	320
	

	Bimini top
	325
	2
	650
	
	600
	1200
	

	Depth finder
	300
	2
	600
	
	500
	1000
	

	Total
	$672
	
	$2226
	
	$1680
	$5400
	



Laspeyres index = 242.6 found by: 
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b.
Paasche=s index:


	
	1989
	
	
	2006
	

	
	Price
	Quantity
	
	
	Price
	Quantity
	

	Item
	p0
	qt
	p0qt
	
	pt
	qt
	pt qt

	Battery
	$25
	30
	$750
	
	$90
	30
	$2700

	Cable
	22
	8
	176
	
	40
	8
	320

	Bimini top
	325
	2
	650
	
	600
	2
	1200

	Depth finder
	300
	2
	600
	
	500
	2
	1000

	Total
	$672
	
	$2176
	
	$1680
	
	$5220



Paasche’s index: 
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Exercise 15.3.

a.
2006 real income: 
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b.
No.  His salary decreased $7,901 in real dollars, found by ( $32,099 ( $40,000 )

c.
2006 purchasing power 
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